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i xl, (=,<)  ai , i= 1,2  ,...,  m
j=l

: xv (=,a) b, , j  = 1,2 , . . . . n
i=l

i: xtl  = a, ,  ai>O  ,  i=1,2  ,...,  m . . . . . . . . . . (6.1)
j=l
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:.? xu = b,,b,>O,j  = 1,2 ,...,  n . . . . . . . . . . (6.2)
i;:,

OR 333



t xij < ai , i=1,2  ,...,  m
j=1

: xlj = bj  , j  = 1,2 , . . . . n
i-l

e.........  (6.5)

t x,,  + xi. = ai
j=l , i=1,2  ,...,  m

M%

262 OR 333

? xt. = ? a, - ‘;’  bj  = b.
i=* i-l j=l

. . . . . . . . . . (6.7)



Ml~l~lq~llaJ  P  = I; ; c,x,,
i=l  j=l

ii xv = a, , i=1,2  ,...,  m
j=l . . ..*...... (6.8)

: xti  = bj  , j = 1,2 , . . . . n
i=l

LLIE % > 0 pn 3 i LEG j

Iwd* CC” = 0, i = 1, 2, . . . . m
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T-hHUFIlGi :a, = ;b,  = T
ill j=l

;,,=;  =a,b,
ai ; bi

j=l
= a, , i = 1,2, . . . . m

j=l j=,  -
T T

:,,  = I:- =m a,b,
bi  2 a,

i=l
i=l i=,  T T =

‘a 9 j  = 1,2 , . . . . n
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I;  ix, = I;  a, . . . . . . . . . . (6.10)
i=l j=l i i .  1

; Fx, = ib* . . . . . . . . . . (6.11)
,=I ,=I j=1
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I I I I
Gj. . . . .

C21 Cl1

X’:

XI,
C2j

2 X21 X22 . . . . . XI,
. . . . .
. . . . .

G.. . . . . XI. al
‘-tCl.. . . . . X2” aa

I I
. . . . .
. . . . .

b, b,b2  1 . . .._  ( . . . . . b. Z  ai = 1 bj
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basic feasible solution
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N 4 Y

I
I

/

c t



2 1 (2oo)l 2 0 0
IS 16 1 1 1

c
3 4 5

r

EsEi*

8 6 1 1
3 2 0 0 3 0 0

6 2 9
4 600

200 400 500

300

600

[’ ai” @I 600

100 500

1.

2.

1.

2.

1.

2.

fhi1qFl  (200, 400) = 200

&&A x 23 = 200

Ghana 2 eon hau~G~i74p6

mi%Jd  3 atavhfh  200

dlhyl  (300, 400) = 300

&&.A xa4 = 300

ituna 3 eon h-bawhthlu

no&J6 4 atxhfh 100
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5 7 6 8 4 1 .
4 0 0 4 0 0

Fhill~Fl (5, 4) =7, 6, 8, 4
I

9 6 3 1 0 7 2. h+n (400,  500)  = 4 0 0
5 0 0

1 2 1 0 8 6 1 1 3. Gk.k~  =x,5 400
5 0 0

7 5 6 2 9 iwblslad  ~waukdh!,w-m&Gi eon
6 0 0

3 0 0 4 0 0 4 0 0 4 0 0 JBB 5 WYilrK 1 0 0
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m-’
400 400 400 100300

9

E

12

I

300

6 1 0 7
100

EEI
1 0 6 1 1

5 2 9

$88 400 loo

300

100

500
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i;:‘“-\:’z

3 0 0  388 100
200

7 5 9
300 200 100 600
300 200 100

%@ 1. 'Gilh~@l (9, 6, 3, 10, 7) = 3
100 1

1. til&~W (9, 6, 10, 7) = 6

2. bh=pl (100, 400) = 100

3. &liL x21 = 100

iwabna  2 mn shuatG&hIuno~a~j81G 2

XxtilnoEI 300

vhana~ 3 vio1d

1. Fh'il~@l (12, 10, 6, 11) = 6

2. Filtll~tl  (400, 500) = 400

,t
3. @lsupd  XJ4 = 400

timnoKa.16 4 eon hkauQ~.GiIuama 3

xxviifh  100 hana 3 do

1. Fililyl (12, 10, 11) = 10

2. +ilhyl (100, 300) = 100

UL
3. Flww x31 = 100

iaamaw" 3 eon huaPaQPshIuno$uG2

Wtilfh 200
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, d
1 . C4d  = n1m1qGl c,, = 2

2. 400) = 400
500

hi1%@1  (600,

3. 9~bs-h  Xd4 = 400
500

fano~a~d  4 eon 5.h.mGPaKiGLw~~Iu

300 400 400 400 500 bma  4 asilfh 200
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3 0 0 400 5w

300 q)(-+ 1 0 0

2 0 0

4 0 0

100

500

2 0 0

4 0 0
500
100

1 0 0

500

200

1.
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3.

1.
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3.

1.

2.

3.

1.

2.

3.

Cl5  = hhq@l  c,, = 4

hilyl  (400, 500) = 400

P'~6Rl  x,5 = 400

lmana I aon  h.kaGhCiaw8olu

noikd  5  LYilfh  1 0 0

cq*  = Fililyl  c,, = 5

Fililtp  (200, 400) = 200

PZK% x4> = 200

imana  4 eon  ?mauCw+Yilu~~&.G  2

xl,-adoaYi1n'pr  200
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400 5-4=1
9 6 3 1 0 7

500 6-3=3
1 2 1 0 8 6 11

500 8-6=2
7 5 6 2 9 400

200 5-2=3

300 400 400 400 500

7-5=2  6-5~1  6-3=3  6-2=4  7-4-3
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5 7 4
400)  40 s- 4=1

9 6 1
100 l-

3,
6=1

10 11
500 11 - 10 = 1

7 5 9
200 l- 5=2

300 400 5w
.

100 _
wwdlJlu~a~~jsJd 2 1 3
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9 6 1
loo 7- 6=1

1 2 1 0 1 1
500 11 - lO= 1

I 5 9
200 7- 5=2

300 z loo

eradl~!.un,o~~~ 9-7=2  6-5=,1  9-7~2

r9 6 I

t-E- 10 1 1

300 f@ loo

Wil~lU~~~~'816 12-9=3  lo-6=411-7=4
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Short Cut
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IUdQ ap  = a, , bq = t b, - ( t a, - a,)
LEJ is,
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: (ai + &) =
n-1
1 b, + b. + rnE

i=l ,=I

n

5

14

11

30

91

10

13

19

30

fl

15

10

0

50

9

0

9

12

50

B

9

20

6

40

ai

50

80

70
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xl1 + XI2 + xl3 = a, .......... (1)

x2,  + x2* + xl3 = al .......... (2)

Xl, + x2, = b, .......... (3)

x12 + x22 - bz= .......... (4)

x13 + x23 1 bs .......... (5)

X,j 2 0, i = 1, 2, ; j = 1, 2, 3

P = cll(bl - x2J + MaI  -- b, + x1,  - XJ + cISxIJ  t cl,x2,  +

cz2(bI  - a, + b,  + x,~  - x2,)  + cl,(b, - x,J

zz cllbt + c12(aI  - b,)  + c&b*  - a, + b,)  + cZ3b3 +

(Cl, - c22  f 62 - Cll)X2,  + (Cl, - cn  + c21 - c13)xn

288 OR 333



a.

a,

a2

a,+al  = b,+b,.

+b,
1

c11  - s21  = c2,  - c22  t-  CL2  - c,,

Cl3 -s,s  = Cl3 - c*2  + c22  - cz3
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Xl2 = (a, - b,) - b, = a,

X22 = (b,  - aI + b,) - b,  = bl  - a,

290 OR 333



loop fiou
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XTj  = 0X,k,  x:: = x:j  - x;*, x::  = XL  + x;*, X,k = 0, . . . . x$ = xyq 2 x,,
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10 - 12 -t 9 - 6 = 1

n

YIn

9

1 2 3 4

10 8 12 19
+I 4

& -1 13 5 11 9 15 17

11 5 8

6

8 - 19 .I- 15 - 5 = -1
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1’121314I I ! I I
n 1 0 8 120 190

Y 50 11 150
- - . _n ;k”, 13 9 0 17
-

9 1 2 1 1 5 8O

u, + vs  = 12 .......... (1)

u,  + v4  = 19 .......... (2)

u2 + vz  = 5 .......... (3)

u2+v4  = 15 .......... (4)

u3 + v,  = 6 .......... (5)

us  + V) = 9 .......... (6)

uq + vq  = 8 .......... (7)
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